


9 4
434 256
112 102
322 154
79.4 78.3
51.0 45.6
ADL
504 46.3
BI 65.9 58.9
155 12.6
75.0 72.7
FIM 87.6 84.0
12.6 11.3
6.3 6.4
3.8 4.2
-2.5 -2.2

0.01

0.08n.s.

p 005



ADL
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100 9
0 1 2 3a 3b 4
24 11.1 55 4.6 0.0 1.1 0.3 22.5
24 7.2 34 5.8 1.1 0.0 0.0 175
24 10 5.4 5.5 5.0 0.5 0.3 0.0 16.7
24 11 4.0 5.0 3.8 15 0.0 0.0 14.2
0 1 = | 3a = 3b = 4
25.0
20.0
15.0
10.0
50
0.0
24 10 24 11




100 4
0 1 2 3a 3b 4
24 2.7 6.4 3.1 0.0 0.0 0.0 12.2
24 1.9 7.4 4.4 0.5 0.0 0.0 14.1
24 10 1.1 10.0 29 0.0 0.0 0.0 140
24 11 3.2 9.3 7.2 0.0 0.0 0.0 19.7
0 1 = ] 3a = 3b = 4
25.0
20.0
15.0
10.0
50
0.0
24 8 24 10 24 11




